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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Figure to the right indicate marks.

Give the meaning of industrial sociology and explain its
subject matter.

OR

Check the result (success) of Horthone experiment
analyse the importance of human relation.

What i1s Industrial Sociology ? Discuss its nature.

OR

Clarify the meaning of Trade Union. Describe its functions.

Give the meaning of industrial Bureaucracy. Discuss
its characteristics.

OR

Clarify the meaning of industrial sociology and explain
its 1importance.

Explain the methods of recruitment of workers in
industries.

OR

Discuss the workers absenteeism and turnover in
Industrial Bureaucracy.

Answer any two from the following four :

(1) Evaluate the Relay Assembling Test Room Experiment.
(2) Explain the types of Trade Union

(8) Discuss the problems of Trade Union

(4) Discuss the line and staff organization in Industrial

Bureaucracy.
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